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General Instructions / Wﬁﬁ‘m :
This Questlon booklet has two Parts — Part- A and Part-B.

Examination.
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PART-A / qrT-A N
ON
CQ BASED QUESTI
‘ M( S ST 99 )
. 30 Min.
- ti F.M.-40 Time -1 Hour
[ (Calr?f&"—sl?)’ Su(l%&afm )cs - (tgl.‘l'l‘hi.40) (Fma-1 2T 30 ﬁl’-ﬁ)

INSTRUCTIONS / {3 :
Carefully fill up the necessary particulars on the OMR Answer Sheet.

HEYTHT gefeh @t fagror OMR W w5 T W |

Put your full signature oﬁ the OMR Answer Sheet in the space
provided.

ST ST T EEJER OMR I 0% W& 7 e Wk ) 8
There are 40 Multiple Choice Questions in this Part

9 9T 4 e 40 gg-fompediy yeq & |

All questions are compulsory. Each question carries 1 mark

Al % ST A ]1 v w6 il 1 3 Faiha 2

There is no negative marking for any wrong answer

TAd 3T & fTT 13 37 T&1 Hier S|

Use the page given at the end of the question booklet for Rough
Work. Do not do any Rough Work on the OMR Answer Sheet.

mwéqmg%w$mﬁﬁ@nﬁq%?ﬂﬁmﬁﬁm0MRW

U5% T BIE I6 FE T F |
Read all the instructions provided on page 2 of the OMR Answer

Sheet carefully and do accordingly.
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Four options are given for each question. You have to darken duly
the most suitable answer on your OMR Answer Sheet. Use only

Blue or Black Ball-Point Pen. The use of Pencil is not allowed.

SR 5o A fashen 3 ¥ | oo @ el SR TR W 39 OMR
Wuammaﬁm~mmmﬁlaaa:ﬂwmmw ~W 82 HAH 1 &l

AN Y| e 1w affa 2

Adhere to the instructions provided in the OMR. ‘Answer Sheet

very carefully otherwise your OMR Answer Sheet will be treated as

invalid and it will not be evaluated.

OMRmmmﬁ&ﬁﬁ&ﬁwwm@mwﬁﬁQWWOMR
ST T ST ER S SHeHT qeaien T feberr S |
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(a,b),(b,c],(b,a),(c,b)}onthe

What type of relation is R = {

sectA={a b c}?
(1)  Reflexive {2y~ Symmetric

(3) Transitive (4)  None of these

S R={(a b), (b c), (b a), (b)) W= A= {a b, e} &

LECE AP
(1) & (2) wEHd
(8) GHMHH @), TH ¥ HIE T2

Iff: R— Rbe such that fi(x)=5x+4, then f~!(x)=

Y=sntYy
\/” x-4 @) 4gx

S : ij_:_(‘f_ sk U
. <
(3 x-5 - ;
) E (4)  none of these

A5 f: R—> REN f(x)=5x+4, Flx)=

~4
Hleara TRE

_5 X
S e @ IR
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For any operation *, be defined on 0 as a* b=4 g b ,then 1 *2 =

3 .
U T -

3) © : (4)  none of these

38 ot » 9 W a*b=a;b @'Clﬁﬂ'lf\qﬂ%a’rl*2= :
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T ————— .

6 If,q:é g,thenSA‘:
T 1 6]
(1) il 2 g ol jOcTd
R 13 |
f E 6] ; (4) noncoffiEE
9 18 i .

e 0

Lo o W
7.  If Aand Bare two square matrices, then (A+B )F =

g W TET AN AT

@)+ 24" (4 AT-48"

At A 3% B &l =g &, @ (A+B)" =

(1) ANBT i Al aBT
8. oali T o - @) «AT-aBt
¥+ 352xk 17 8
< 1 y1=l6 3| then values of x and y are
x> %)
WY W x=4,y=3 @ x=3 y=4
Do B x=3 y=3 | (4) none of these
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539 Z]-[f Yoremyes

e~ x=d, y=3 8. x=8_ 3=4

B x=3, y=3 4) T FE W

- Ty st | b~ LB
X+Yy y+z z+x|= e ’ piyte gtemm XtVHTZ
s X f - pEEwh. . e & >
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fon

ax ta x g ot T e 2L

(1)  sec?(x?) | \_/(,2)/' 2x sec?( x?)

(3) 2x (4): i | IS
12, cfix{sin_lk]:

T o
(3) 1+1x2- (4)  none of these
a%—(—(sin'l xX)=
i 1i e 7 1_-lx2
(3) 1+lx2 (4) TH 9 FIE Wl

XASC-MAT-(OPT)-ASC  [(12)/12087 | &
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.

B
| %

(1) secx \/(2')/- tan x

,} B - . (3) cot x ; ¢ (4) none of these




m.,.n (.\’+ y)m+ﬂ - then ‘c'l'; R

155 8-R"Y =
() %/ 3
3 -= 3
3) - (4)
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X
S 24 5
Yy r@ ﬂ:(}/] 'J—E’Jn

mlm J

none of these

« %

&

“ e
0
O X
{ﬂ\o\}) ;-o " - : A
g : @)
&g 9
Ly x |
(3). =T
% (4)
¥
o e
_{3& ‘ I
re 16.  The slope of the curve y? = x at the point (1, 1) is
R . | | ?

Y=o
_ ik oy . =
0 2 ;ﬁé%, 51 (2)
o . 1 | t4)
W92=xﬁmtl,1}%§W%
(1)

o
5 )

(8) 1 (4)
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3 17. :
E o Théslone of e normal to the curve y =2x2 +3sinx at x =0 is
. . : | Yot + 3%
i B 1 o
. D s ey 1 .
- I - L‘ :
\ : .My =
s . ©) > 3 3 (4) none of these % >
““h : : mz..“-'—’:@—&_

'_' wh 9 g= i 3sinx & -.x‘=_ 0w

¥

e ) a7 &

o E >
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S€EC X
e

cosec”x

(1} D% =tan x +¢€ \-M ek C

19.
g :
g};} o (3) -tanx-x+c (4) none of these
Y5 v . :

%?\O
& I sec? x qs
C;rﬂ N cosec?x
N p
) .
s (1) x-tanx+c (2) tanx—x+cC
2 -
(3) -tanx-x+c (4) 3TH 9 HIE T
dx -
20. 2 _ -l
‘[9+x2 L e{?’ﬂ\"ﬂ% fan 3

| (1]. tan ™ [g—) +e4 N \/Q]/ %tan‘l (%) +C

(3) 3tan™ [%J+ B (4) none of these
I ool
0t xf
‘ -1
(1) tan (%J o - (2) %t.em_1 [g} e
3 " X _ e -
(3) 3tan (3)+c (4) T« FE T
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ﬁ-‘ =
16 - x2

e g (f—)m (2) log

x+1/ 16—x2|

-

(3) log,x+m,

(4)  none of these




_MAT
@ Arts/Science/Comme

%ﬁﬁﬁﬁmaﬁﬁﬁ 0:3 cm/secﬁﬁ?wﬁqﬁﬂlaﬂq@ ST B
(2) 0-6n cm/sec

(1) 0:4m cm/sec
(3) 0-8w cm/sec @) T @ HE R

b I , | 5 L b%ﬁq%)
e

3 e
e e

(3) a’ ;b4 ' (4) none of these
b
J.xz. dx =
| b3 = a3., | a‘?’ - b3
S s (i
i gt ) e ;b4 4) T™ q P T
M ‘% Y
7 k

g 2t ] 255= Tan

LB ek

‘@1/112 | (4) none of these

XASC-MAT-(OPT)-ASC ~ [(12)/12087 | 14 / 32
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2 d 3 . S - B
: (dyj *2[‘&%J 4Oy =0 F FEE

{1} 0 2 2) 4
B 4 @) T A FE T
27. The integrating factor  of the  differential equation

' d?y - |
S%":Mam' —-%+ysec\____2_3c=tanx.se(:2x1s

g~
e
o |
o (1) tanx : \/@_)/ ptanx
(3) logtan x (4) none of these
o Y 2
HeIHA | T e x = tan x.sec? x 1 GHEHAA 0T
(1) tan x (2) etanx
(3] log tan x - L
& (4) T 9 FE T
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e A p: 4 Ay )
r5i+ ~3kand31-—4j+7kis

£ 30. The scalar dot product of vecto

none of these

“4)




_- \(a_-g)x s
3 (q+b)=..-
' e
Q(ax.ﬁ)
(]
| a l?_l.b l2

B
e e 1, :an,’b\
AN o ﬁm
\o arw\o'\
2 .
Bl 23 lar*

(4)

none of thege
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The direction cosines of z-axis arc

[ - (0, 6,0) ‘@2 (1,0,0)

(3) +(0,1,0) V\/[g,)/ (0.0,1 )
P

z-3& foe et ¢ )

(1} (U0, 0) o) 00 )

3 (0, 1,0) 4 (0,0, 1)

Find the equation of the line joining (-2, 4, 2) aqd (H=2,5)

X e
) e —2 %5

(3) x; 2 _ y_—24 e ZIQ 4y~ None of these

forg (2,4, 2) R (7, -2, 5) FI T a1eh Y@T &1 @R g

L e e

@y a2 _Y-4 z-2 A .
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a y o Passes through (e pPoint

(@, (5,4,-6)

8] (4,5,6) (4)  none of these
v X235 42 i 222 R e Qe &
(1) (5,-4,6) 2) (54,-6)
B) (4,5,6) (4)  THE B @

~
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v

r.1| ] {,

S

—

\u

40 ¥ 56

The direction cosines of the normal to the plane 2x -3y -6z-3 =0

are
z 28 6 23_6
) Frm7r7 @ F57
(3) %,—%,"% | (4)  none of these

JHAA 2x-—-3y—6z—3z0$3§ﬁ4ﬂ‘3ﬁﬁ@w%

o

B.e8 & Gl B o
(1) =777 ( g

I .
3 =7

§iig @ AT
7

e i
B Yo R =d
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40. IfP(A)=%, P(B):Té-and P(AﬁB)=%,then P(AUB):

- (’( nuvR )

& | L 5 ¥
5 @ 3 o (a) gt~ P )
(3) % \_/(47/ none of these ‘e + ERn
af p(a)=3, p(B)=L, @ P(AnB)=% T PlAUB)=

8 Vea "3 BRI
- LT

_ : .
(1) % _ @ ,ﬁf

@ 5
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PART-B / ¥F-B
NS )

( SUBJECTIVE BASED QUESTIO
( Frgafas snenfd 597 )
Time -1 Hour 30 Min,

Class-12 JI Sub.-Mathematics ( FM'4:0) (Fma-1 T2t 30 =)

(Fi-12) f (frsa— fvra)

INSTRUCTIONS / 33w :

far ac

Iat

. . : ; m words as
1. Examinees are required to answer in their [OWNl

practicable.
ghemefl FurEYe 379e =gl § @ IW al

2. This question paﬁer has three sections : A, B and C. Total number of
questions is 19.
WU A @Ig_ A, BT C & iﬁrwﬁﬁﬁw 19% |

3. Section-A — Question Nos. 1 - 7 are 'Very short answer type.

Answer any five of these questi::ms. ‘Each question carries 2 marks.
TUS-A | WY TEAT 1 - 7 AT Y I VER F ¥ | 39 @ et o o
& IW 3T |mmwmﬁﬁm lmmﬁm ) FE
Fraif & |

x!sc = - .
MAT-{OPT)-AsC (12)/12087 | 24 / 32
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4. Section-B — Question Nos. 8 - 14 are Short answer type. Answer
any five of these questions. Each question carries 3 marks.

q e g | g A feedl ui gl b I
WUE-B - WY G 8 - 14 oY a4 8 | & ¢ .

AP | e ¥ed @l IR AR | g we hl AT 3 3ieh, fuifia 2 |

5. Section-C — Question Nos. 15 - 19 are Long anster type. Answer
any three of these questions. Each question carries 5 marks.
@UE-C . v g 15 - 19 d Il B | 5 A fopedl A el & I
T | 9P Y9 I TN | e W ol SifumEan 5 3% fwife 2 |
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gection ~ A

7ue - A

ions
( Very short ansWer type questio )

ions.
Answer any five question

wﬁamﬁf%‘aﬂ%

then find fog(x).

@)

]

5 4 R—)Randg:R-)Rarcdeﬁned by f(x]=\[; and g(x)=x?

Zﬁ:ﬁ'f:R—)R?TﬂTg:R%R, f(x)=J;'<'~[‘?JT g(x)=x2 d gHmSe 2

al fog(x)da ST

| ~IN2. -1 e, 11
3- rove that tan (11)+tan (24)-tan (2)

e ]

tan" ] I}

an(z)
Do

3 5 5F
/3. fo=[4 2 2] and B=h —8],thenﬁndAB.

e ) o ()

2 -4 e
!ﬁi’A=[§ g g}ﬁm B=[1 —g],a’rAB T i |

XASC-MAT-(OPT)-ASC  [(12),12087
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/Ify xs’“x find 49
dx

o y = v, S o

” . COS X
5. Find J.

\/1+smx
o™
e wy [ Lesx " e
I = R R
oY % S
QK‘I\"L ) ’ -fv/\
S SX
/6/ Solve the following differential equation )} 7 anY E
0 wb*'w\
<
dy _ 1+ x? ‘{5 & = \/
dx 1+y? Ny, 7
i a\
[ oo ; n ; : qrrc\\fh
ARG 37 HH!ch{-Ul FL B B b . g2
B dy_1+x =y
. dx 2
T e
o
Compute P[—%) if P(B)=0:5and P(AnB)=0-32. ‘l‘/"- 2 LU
.
o WHEEY
P(éjmﬁﬁfqa% P(B)=0-570 P(AnB)=0-32. 2o s 5 D
B .-a--""‘_‘-——_

XASC-MAT-(OPT)-ASC (12)/12087| 27 /32
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Section - B
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( Short answer type questions )

( oY I 09T )
Answer any five questions.
Rt dir wRAT o STR 4 |
|l x+A X X Rl .
8. Prove that X X+ A x =(3x+?\']x :
X X L XHhk
XA X X :
fag wifs o x+h ax (N(3x+1).22.
i X X X%

9. | If f(%)=2x+5 wheal\2 2

| ; ¥ %«b\
=2x-5, when x> ?2

then test the continuity of f( x) at x; 2

W f(x)=2x+5,99 x<2

=2x-5,%9 x> 9

3 x5 = 5

SR

we N \‘“*’\3(\

ada AT b
‘L+ N A - "'L

: _ | % .,/ ?7/ 7//\
a}““‘f(xlﬁﬁﬂmﬁﬁaﬁl '

FASC-MAT-(0PT).a5c

“

(12)/12087]
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\H\R Find the interval in which the function f(x)= x2 +2x -5 is strictly
]

increasing or strictly decreasing.

S T Hiroq {FHH Hetd %Tiuw.m+m.a.|m?.,ﬂa gy 4 RS

w B ¢ |
)f
11./ Evaluate _m|:,:..F| A : nﬁ@%
: &, *
Mﬂm %ﬂ tIMEl p \ ﬂ ~\ 3 X /
._.H_m Y —3 & KV < 3&9\/
,? 9
x/2 J\ e fjt /-_\
I 12. Evaluate _. Jtan x I erv V
Jtanx +Jeotx 92 " % N\
0 3 dh o
X &
n/2 b
RIGEEISI ._. vtames = o Y\
0 Jtan x + Jcot x H?&J .mJ »Q.,

Find the area of a region bounded by the curve mm =4 x and the

ohfr
. L

o y2 = 4x T WA @ x =3 Ft 8 1 8wt T AT 14

| R CTAS

Find-the angle between the following pair of lines :

3.

straight line x = 3.

i

.w_uE?&L?i;?&;w?&a il
wimw;meT:w?&;m_. 34_ et“J
XASC.MAT-OPT}-ASC  [(12)/12087] 29/~ b
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FrAfeafiaa Tarr % =@ra a1 &on aa HIAT
Ve A \/. A
Wuamﬁnwmln;;+h..:.+wu+mui a4l
Fo) A A
wuaw;wm;?:w:m?@f.
Section - C
7gug - C

( Long answer type questions )

XASC-MAT-(OPTY-ASC _ |(12)/12087 | 30 / 32

( #re g 99 )
Answer any three questions. S X 3
et et Al & I &
Solve the system of the linear m.@rﬁ&.ﬁ.&u using matrix method
- 3x-Yy+2z=5,2x-2y+3z27, x+y-z=-1.
s T e & arege fafd 7 g
3xX-y+z=5, 2x-2y+3z=7, xiyz=-1.
Find the maximum and minimum values of the given mc\d\ﬁ)_ n o
. 2 <
flx)=x>-6x>+9x+5. 74 J,,x?\_\_,
_ . 7
ST 7T ®erT T HewH UF —gAdq AF A1 BT waw/
flx)=x>-6x>+9x+5. .
Find the shortest distance between the lines %
it o A A A A A \ Z (WV
r=(i+2j+3k)+t(2i+3j+4k)and P \&9 /«u/%
Qo
= e A A A A : _
r=(2i+4j+5k)+1(3i+4j+ R . \ (f;\/.(.




A
\ -
i+3j+4k) 7 \%w....:.
- : 1
A A A A A Lt
={21+4j+5Kk)+0(31+4;+35k). 9
Solve the LPP graphically - <
Maximize Z = 4x+y o~
gt

subject to conSg&ints . \-\V




